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Topic:- General Knowledge and Logical Knowledge

1) Founder of the Holkar Dynasty / W U F GRITYR O
1. Malhar Rao / HeBR X[d

2. Bana Misra / STIT R8T

3. Baji Rao / STSIRTS

4. Madhav Peshwa / JT¢/d URIaT

Correct Answer :-

e Malhar Rao / HegR Xd

2) Which state has the longest coastline in India? / HIRd H fore I &1 qYx dc Jad &dT %?
1. Andhra Pradesh / 3T/ u%m

2. Maharashtra / HERTY

3. Gujarat / J[SRTd
4. West Bengal / Ufge s

Correct Answer :-

e Gujarat / T[RRI

3) Which instrument is Ustaad Amjad Ali Khan associated with? / 3&dIq STHGIG 3relt @ s
IR | "l §2

1. Sitar / RIAR
2. Veena /TﬁUIT

3. Tabla / &l
4. Sarod / Wi

Correct Answer :-

@)



e Sarod/ Wi

4) If JKLMNO is coded ACTVSRX, then how is MILLION coded? / df¢ IJKLMNO &1
ACTVSRX ¥ ®ifed fFar a1 8, df MILLION &1 &4 Sifsd faar S

1. SAVVARX
2. SAVVAXR
3. STAATXR

4. SATTARC

Correct Answer :-

+ SAVVAXR

5) Kanha National Park is located in / PI-g1 ?T@Tf el TIE\TJ@-H %z
1. Bihar / /S8R

2. Tamil Nadu / IfOTTg

3. Andhra Pradesh / 3179 U2

4. Madhya Pradesh / H&] LR

Correct Answer :-

e Madhya Pradesh / ¥ o

6) Where is the automobile industry cluster of Madhya Pradesh? / & U H aﬁaﬁm ST
HET Pisd 82

1. Mandideep / ey

2. Malanpur / HIcHYR
3. Maneri / T_1

4. Pithampur / tﬂﬂqﬂ'{

Correct Answer :-

« Maneri / HRI

7) B.R.Ambedkar was born in / d1. 3[X. 3[ASPHT BT o+ WTEGIT Y1?
1. Ujjain / IS4
2. Mhow / H3

3. Shajipur /¥ IENFR
3)



4. Bhojpur / lﬁWER

Correct Answer :-

e Mhow /HI

8) The famous holy place, Kedarnath is located in ./ UG Ul =y, FERATY
Ty H R 71

1. Uttar Pradesh / 3R U ¥
2. Uttarakhand / STRRIS
3. Odisha/33 I

4. Madhya Pradesh / 3] e

Correct Answer :-
o Uttarakhand / STRIIS

9) The Indira Gandhi National Tribal University is located at / gﬁv reh 2113111 SIS

fayfaeney w8l fRA 82
1. Katni / et
2. Amarkantak / 3[R ch

3. Rewa /X4l
4. Bhopal / T

Correct Answer :-
« Amarkantak / SHRhCDH

10) The major portion of the Mahanadi river basin now lies in ./ AgTS! It & ARk

o1 g1 fow o HE
1. Uttar Pradesh / 3R UG

2. Chhattisgarh / Eﬁ‘ﬁﬂﬂ?{

3. Madhya Pradesh / H&J PR

4, Jharkhand / W

Correct Answer :-

e Chhattisgarh / @T’ﬂw

11) Who is the Vice-President of India? / HIRd & GaHT= SU APUF DI 2
“4)



1. Najma Heptullah / <TSTHI %’qﬂc_vﬂ_s'
2. Hamid Ansari / ET&IE SR

3. Venkaiah Naidu / 9% A1Ig

4, Ram Nath Kovind / 3H A1Y aﬁ%‘cz

Correct Answer :-

« Venkaiah Naidu / 34T g

12) Two dice are thrown simultaneously. What is the probability of getting two numbers whose product

is odd? / &I UTH T H1Y Wb T g T HaR MM St T JYTGHT § o1 AT faud 312

1
6

|

|

bt | —

Correct Answer :-

a1

13) Who is the Chairman of the UPSC? /W & el GaC| %?
1. Vinay Mittal /ﬁ:mﬁlﬂa

2. Archana Nigam / 3T AT

3. David Syiemlieh /@ﬁgﬁﬂﬁﬁg

4. Alka Sirohi / 3fedhT RRIg

Correct Answer :-

e David Syiemlieh /@;ﬁ_s'ﬁﬂ:l?ﬂ_é



Who is the Union Minister of Women and Child Development? / 'FI'%ET aﬁ“\rwﬁmaﬂaﬁﬂamﬁ
P B?

1. Maneka Gandhi /ﬁelWTﬁ‘iﬁ
2. Uma Bharathi / 39T YRdll

3. Smriti Irani /F{ﬁ ENE
4, Nirmala Sitaraman /ﬁﬁﬁT?ﬁW

Correct Answer :-

e Maneka Gandhi/fﬁﬁﬁ'ﬁﬁ

15) Find the odd one out: /Qﬁﬁ'ﬂqﬂﬁm:
2,4, 10, 15, 26, 35, 50

1. 35
2.15
3.50

4.4

Correct Answer :-

16) Rajeev ranked sixth from the top and forty first from the bottom in a class. How many students

were there in the class? / U H&IT H Iei1d P b Y A TSdl 94T A9 A ShArGigd] g | STP! P&l
A pafea smAd?

1. 47
2.46
3.45

4. 48

Correct Answer :-

17) In a certain code language, My sweet heart means cel agase xena, Mango is sweet means agase
mnkol sey, Mumbai is costly means Bomba sey deara. Which is the word for mango in that code
language? / Tdh W BIS HTUT 'El:, My sweet heart BT 3 cel agase xena; Mango is sweet B1 e
agase mnkol sey, Mumbai is costly BT 3 f Bomba sey deara é?lT % g9 IS UTIT A mango * m
5 wrsg @1 sxauTa forar T 82

1. agase

(6)



2. deara
3. mnkol

4, xena

Correct Answer :-

e mnkol

18) Which is the oldest refinery in India? / HIRd § T8 R+ gismofl (RNwrg=sh) g @ @
1. Digboi refinery / f&TTas gfvemRult (Rw18-eh

2. 10C refinery / 3TS3NT Um0 (RpTERY)

3. Mathura refinery / HYRT URSHRUT (Rp13-RY)

4. RIL refinery / 3TR3MTSUA URHUT (RBIETRY

Correct Answer :-

« Digboi refinery / %Tﬁh_sc gfesmeoft (F\fch—l%:lﬂ)

19) What is the value of x and y when, 39x52 + 278y = y2y3x? / e 39x52 + 278y = y2y3x, CIPGL y
BT A T T2

1.3,4
2.4,2

3.6,4

4.6,3

Correct Answer :-

20) Complete the series choosing the missing number: / & T&IT AH YT B T

HIfeIg:

1, 6,13, 22, 33,

1. 44
2. 46
3.47

4. 45

Correct Answer :-

. 46

()



21) Complete the series choosing the missing number: / T ST D JEaT DI T

PO

6,11,21,36,56,
1. 81

2. 51

3. 42

4,91

Correct Answer :-

« 81

22) Complete the series choosing the missing number: / T & gAHR YEaT BT T

PIfoTC:

2,3,5,7, ,13,17
1.11

2.4

3.10

4.12

Correct Answer :-

23) Select the option that is true about the Statements and Conclusions given:
Statements:

No spoons are plates

All forks are spoons

Conclusions:
I. No forks are plates
II. Some spoons are plates

/ S faweg &1 aae SR e iy T wAT ok fFsput & 9 F 98t 8:
BU:

HIS TE We T8 8

it sic A §

Ao

8)



1. $$ HicT We TE &
II. $ 9979 W §

1. only conclusion Il follows / Had e ) &WW%

2. only conclusion | follows / Fad [Py | G@WW%

3. neither conclusion | nor conclusion Il follows /:fﬁﬁ'ﬁb_ﬁfl @T?ﬁﬁmﬂf Il WW%
4, both conclusion | and Il follows /ﬁ'@ﬁfl 3Rl Eﬁ’ﬁ &IE\‘:R'UTW%

Correct Answer :-

« only conclusion I follows / WW@IWW%

24) Select the option that is true about the Statements and Conclusions given:
Statements:

All stars are satellites

Some satellites are planets

Conclusions:
I. Some planets are stars
I1. All satellites are planets

/ 39 fdweg &1 9g- Sifg Sife AT T8 HAT ok fAsput & 9 § |81 5:
FY:

wft I 3w §

$OITE T ©

Ao

LS TG AN G
I1. 9 STIE U8 &

1. only conclusion Il follows / Had ey || WW%
2. only conclusion | follows / Fad ey | GENTUTWT%
3. neither conclusion | nor conclusion Il follows /:fépfﬁwﬁfl Gﬁ?':f?ﬂﬁmmf Il &Iﬂﬂwmﬁ%

Y]

4, both conclusion I and Il follows /ﬁ'ﬁ@ﬁﬁfl GﬁT IRAGIRCRLEY B %

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows /'—-T—Eﬁﬁmo_él G'ﬁ?'—-ffﬂﬁw I WW%

25) Select the option that is true about the Statements and Conclusions given:
Statements:

All sarees are dresses
Some chudidhars are dresses

©)



Conclusions:
1. All dresses are not sarees
Il. Some dresses are not chudidhars

/ 39 famey &1 991 Fifore sifer f3u e Su=T 3R feeul & 9 & T8t 2:
DYH:
aftarsi gu g

O ISRR gH B

e
Ll ST At Et 8
Il T8 39 TSGR eI &

1. only conclusion Il follows / Had et || GHHTUTW%

2. only conclusion | follows / FHad (spY | &IFNTUTW\’FIT%

3. neither conclusion | nor conclusion Il follows /:T_Eﬁﬁ@b_ﬁfl G?ITqEETﬁWBf Il WW%
4, both conclusion | and Il follows /ﬁ'@b_&l 3Rl aH WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /:f'@p[ﬁ"ﬁﬁﬁfl @Tqﬁﬁ'@?ﬁf Il Wm%

26) has been declared as the cleanest State in India by the NSSO Sanitation Survey
conducted in 2015. / 2015 ¥ TG TTTHTHSH TTEIT TAEUT GIRT @ YRd H IS
W I Ui farar T g

1. Uttarakhand / STRRIS
2. Goa /Th?ﬂ

3. Kerala / bRl

4. Sikkim / fafapH

Correct Answer :-

« Sikkim / ifg®H

27) Election Museum is located in / gﬂﬁﬂ":ﬂgﬁﬁ
1. Delhi / faei!

2. Mumbai /'B;—Gl—sc
3. Chennai /éﬂs‘
4. Kolkata / SIS

(10)



Correct Answer :-

« Delhi/feclt

28) The Madhya Pradesh State Industrial Development Corporation was founded in /| U
SR IS SHenfe faewry fFara &t wita=n w9 g3 &2

1. 1972
2. 1966
3. 1965

4. 1960

Correct Answer :-
e 1965

29) Kathmandu University awarded a honorary doctor of letters (D.Litt) degree to
in 2016. / FTodIg fayfaemeya = 2016 & P Th HHG Slae? 3ITF dcd (S1.fie)
IUTFY | YRS forar o

1. Narendra Modi/'_‘ﬁ_s‘{%
2. Pranab Mukherjee/mﬁﬁﬁﬁ
3. Karan Singh /Wﬁi’&'

4. Manmohan Singh /mﬁﬁrﬁ'

Correct Answer :-
e Pranab Mukherjee /WH@GW

30) National Food Security Act was passed in / T8I 1<l GR&T Sffaw &1 |
urie fopar T ATl

1. 2005
2. 2009
3. 2016

4. 2013

Correct Answer :-

e 2013

31) If REGIMEis coded EEIGMR, then how is LAGAAN coded? / Gfeé REGIME® EEIGMR
PIfed frar SITdT 8, a9 LAGAAN &) $A Sifsd far siraem?

(11)



1. NAAAGL
2. NAAGAL
3. ALAGNA

4. LAAGAN

Correct Answer :-

*« NAAGAL

32) If INDIAis coded HLAEV, then how is AMERICA coded? [ Af¢ INDIA $Y HLAEVY
Hifed a1 9dT 8, @ AMERICA S ) HifSd fhar SRm?

1. ZKBNDWT
2. ZKBNDVT
3. ZKBMEVT

4. ZKBNCWT

Correct Answer :-
o ZKBNDWT

33) Complete the series choosing the missing letter/s: / Wl S&R/3H&RY B ADY Yol ﬂﬁwm
__bcdbc__dcabd__bcdbc__dc__bd

l.c,c,ccc

2.d,d,d,d,d

3.b,b,b,b,b

4,3,a,a,a,a

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect combination: / CiE| 'qbf
TS Yadl |, T3l BT UH HH U & | Tard JaIe Ugnu:

8,13, 21, 32,47,63

1.21

2.13

3. 47

4. 63

(12)



Correct Answer :-

. 47

35) The series given below contains a sequence of numbers. Identify the incorrect combination: / CiE] ?:.Pf
TS Yadl |, T3 BT TS HH U & | Terd Jalo Ugng :

47,43, 41, 37, 36, 31, 29

1. 47

2.41

3.29

4. 36

Correct Answer :-

« 36

36) Kandlais a sea portof [/ Hhsal___ I &I UH YS! S8 8l
1. Gujarat / T[oIRTd

2. Tamil Nadu / IiHd 1

3. Andhra Pradesh / 3% UG

4, West Bengal / G2 STt

Correct Answer :-

e Gujarat / oIRId

37) In a certain code language, forak klo/ loak means tie the knot, klol seda ferma means
the sharp knife, and loak goak woak means blue neck tie. Which is the word for forakin
that code language? / Tdh ©H PIS UTHT ﬁ, forak kiol loak &1 3% tie the knot; kilol seda
fema &1 Y the sharp knife AUl loak goak woak &1 3l f blue neck tie ﬁ?ﬂ %I ELl CACRYILI k|
forak & ToU {5 Teg &1 STAHTA fHuT ™7 82

1. knife

2. knot

3. sharp

4. tie

Correct Answer :-

e knot



38) The first passenger train in India was started in the year/ Wﬁqﬁﬁﬁﬂ?aﬂ
39 99 3= g8 A

1. 1853
2. 1753
3. 1932

4. 1850

Correct Answer :-

« 1853

39) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

T v A el & o Ivg R e §, R Q v ) Sise AW Wi v qurHar weiRia $d §
Sdfe T 394 fH= g1

T faww gra Fifre:
1. KLM
2. PQR
3. BCD

4. NPR

Correct Answer :-

« NPR

40) Select the option that is true about the Statements and Conclusions given:
Statements:

All boys are players

No player is bad

Conclusions:
I. No boy is bad
I1. All players are boys

/ 39 faed o1 994 BT Sife foT T8 w1 3R freput & o & 98 &
FY:

At ass faanh §

IS RSt 1 e ©

A

(14)



1. Is ASHT I To1 &
1. goft e & &

1. only conclusion Il follows / Had ey || &WW%

2. only conclusion | follows / Had Fsay | GITNTUTWT%

3. neither conclusion | nor conclusion Il follows /?ﬁﬁ'@ﬁfl @T?ﬁﬁ'@?ﬁf Il WW%
4. both conclusion I and Il follows / few | 3R 1At &H\EITUTW?[%

Correct Answer :-

« only conclusion I follows / Fad F5HY | STTROT HaT &

Topic:- Mental Ability and Mental Aptitude

1)

2 iy .-, " 2
Which of the following is greater ihanll?? } EFEeiET | & w4 115 ¥ A 997 57

I
Ly
[ R

(15)



In the sequence shown below, which figure comes next? / @Al 231 901 &H H, Haelr

1 1 m b
1.
2.
3.
4,

Correct Answer :-

| sent fifieen parcels of cranges. What was the total weight of the parcels, if each
weighed‘lﬂ% kg? / # ol T Iegg URTl B ST A Ik mﬁarm% Topam &1 ¢

Al WYl T el dote AT A7

(16)



1. 147.5
2.137.5
3. 1275

4. 157.5

Correct Answer :-

« 1575

4)

2 2

E? | g § TRl § <§$fﬁﬂ%a§r%‘?

Which of the following is greater than 5

e
L | Ve

.
| 12

4.

Correct Answer :-

40
3
5)

If the following two squares shown below overap, which one of the following options

is formed? / Afg T g 91 FAcafg @7 € or W & & 39 91 o BeeT aaar &7

— . *
() U

(17)



4.

Correct Answer :-

6)
In the sequence shown below, which figure comes nexi? / ==l &3 a3 &H H, Hel

FTepIcT it T AT
- h - ] { ,.;
\ : j;_f’r 2
I i w

(18)



2.
3.
4.

Correct Answer :-

7) Abhi and Prem together have Rs. 6,000. After giving Rs. 700 to Abhi, Prem finds that he has 1/3 of
the amount Abhi has. If so, then how much money did Prem have in the beginning? / 3ty Gﬁ? TS

TR el TR 6,000 FTA 1 3P BT 700 FUY A F UYTT UH &) J1d BIeT & 6 3Tb U 34fy
BT Y=RIRT BT 1/3 B 1 Afe TAT B, O TR T U & U foa=it emRTIRT 32

1. Rs. 400 / 400 3U4
2. Rs. 2,200 /2,200 398
3.Rs. 1,600 /1,600 30T

4. Rs. 1,000 / 1,000 30

Correct Answer :-
« Rs. 2,200 /2,200 39T

8) Simple interest on Rs. 1200 at 18% per annum for 9 months is: / 9 'Flﬁﬁ %ﬁﬂ'{ 18% Ufd g W=
1200 FUY R ATYRT TS fHa13:

1. Rs. 191
(19)



2. Rs. 162
3. Rs. 108

4. Rs. 120

Correct Answer :-
e Rs. 162

9) The average of three consecutive numbers is 15. What is the new average when the three numbers
are multiplied by 3? / 19 SPHNTA H&=AT3HT BT {1 15 8 | 919 1 TBATE 3 J 01 Y &1, ot
STHT TT S AT GRI?

1.42
2.40
3.50

4. 45

Correct Answer :-

10) If 15% of water bill is reduced from the original bill, then Rs.170 will be the balance to be paid.
How much was the original bill? / 'Clﬁ 15% Tt T ﬁa, Hd faaou Eﬁ' SITdT % al YT B
P Y R 170 ¥4 R | g fore fopamm 4m2

1. Rs. 200 / 200 3T
2. Rs. 270 /270 ST
3.Rs. 170/ 170 ST

4. Rs. 185 /185 3T

Correct Answer :-
o Rs.200/200 30

11) The different between two numbers is 20 % of the larger number. If the smaller number is 20,
then the largest number is: / 3 sl & o9 &1 3R, t_ﬁﬁ'\‘l@TW 20% %I Tfe BIdt GBI 20 8
al 951 ST &:

1. 80
2. 50
3.45

4.25

(20)



Correct Answer :-
¢ 25

12) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / 74 f&d T 9= val & ¥ =74 il TR ud & Yo w9 DI A1 T 61 62

Raffael Hertz
18/8 Bangna-trad Rd Moo7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(i) Raffael Hertz
18/8 Bangna-trad Rd Moo?7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(ii) Raffael Hertz
18/8 Bangna-trad Rd Moo?7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(iii) Raffael Hertz
18/8 Bangna-trad Rd Mo07,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(iv) Raffael Hertz
18/8 Bangna-trad Rd Moo?7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

1. iil

(21)



Correct Answer :-

13) Raju age after 15 years will be 5 times his age 5 years back, what is the present age

%fRaju? / 15 T9 YT I7S BT 3T, 5 TY Ugd IS BT 3R BT 5 AT GRIT| IS BT ToH 1Y T
?

1. 14 years / 14 99
2. 15 years /15 T
3. 8years/85|'5f

4. 10 years / 10 T

Correct Answer :-

e 10 years/ 10 99

14) Prabhu was 4 times as old as his son 8 years ago. After 8 years, Prabhu will be twice
as old as his son. What is the present age of Prabhu? / 8 99 Ugd Yy 3= g 4 BIG LG
4TI 8 9 ULTd, WY 3 U A SRAT S 9Y &1 aHI- Mg &1 82

1.40 years/403’5f
2. 30 years /30 L
3.45 years [ 45 L

4. 35 vyears /35 ay

Correct Answer :-

e 40 years /40 Gl

15) Yukta gets Rs. 350 to buy fruit and vegetables for her mother. She buys fruit worth
Rs. 148. How much money is spent for buying vegetables, if she returns Rs. 42 to her

mother? / a1 7 (U1 AT ¥ fore wa ok afeai @iiew 8 350 ¥U8 WIw U1 39+ 148 30
qm%maﬂ%mﬁagmﬁﬁaﬁuw&amamﬁ%aﬁﬁv@ﬁ@aﬁ%ﬁwmﬁ
U @ fHu?

1.Rs. 196 /196 30
2.Rs. 178 / 178 W
3. Rs. 202 /202 30

4, Rs. 160 / 160 TT

Correct Answer :-

e Rs. 160 /160 3UY



16) Two angles of a triangle are in the ratio of 3 : 5. If the difference of the angles is 309,
how many degrees will the largest angle in the triangle have? / T® Povsg®u3:s

¥ 3rgurd § &1 afe HIoi o1 3R 300 § &t Brwtur A diedaw wivr fasan f&ht &1 g2
1. 75°
2. 809
3. 70°

4, 65°

Correct Answer :-

17) Forty men can finish building two-fifths of a wall in 20 days. How many more men
should be put to work to complete the remaining portion of the wall in the next 20 days?

/ 20 fo # =1l =9 U SR @1 2/5 fFmfor 1 &% a@a €1 3r1a 20 A & AR & A9
P R B & T fHa iR it ewl & Srf W) o anfge?

1. 40
2. 80
3.20

4. 60

Correct Answer :-

18) The total time taken by two trains to cross each other is 20 seconds. The speed of
both the trains is 10 m/s. What is the combined length of both the trains? / ﬁﬁ GIRT
TH-goY Bl UR B & a1 771 o THY 20 YHUs §1 341 ¥al Bt I 10 Hew/AHvs g1 41
¥l D YT AETS T 8?

1.100 m /100 Hicx
2.200 m /200 Hic?
3.300 m /300 Hic?

4.400 m /400 Hic?

Correct Answer :-

« 400 m /400 Hiex

(23)



A can finish a work in 18 days and B can do the same in 15 days. If A worked for 12 days
and leaves the job; then, in how many days can B complete the remaining work single-

handedly? / A {5t & @1 18 fai & ik B St wrd &) 15 R A o gwar g1 afg A 12
fa=ii & o &1 wear 8 SR fhR &1 Bie a1 8 a1 B 3% d 72 g€ 1l &Y fovaq foAT & g1 demm?

1. 6 days / 6 f&
2. 4 days / 4 fa=
3.7 days /7 feA

4.5days /5feT

Correct Answer :-
« S5days /5T
20) CANCELLED

The difference between the place values of 6 and S in the number 326549 is: / 326549 I@ITH 6 3R 5

& S A1 & dH BT =R 8-
1. 1500
2. 3500
3. 900

4. 2500

Correct Answer :-

* 900

21) The cost price of a television is Rs. 2400, which is 20 % below the marked price. If it
is sold at a discount of 16 % on the marked price, then, find its marked price, selling

price, and profit? / T ToIfaw= &1 %d Ted 2400 U4 &, 51 f sifrd gea A 20% w0 31 afg
I Sifpd IeU TR 16% I Fe W A1 91T 8, < STHT Sifdrd Uy, fasra g ok & 31 &3

1. Rs. 4000, Rs. 3520, 6%

2. Rs. 3000, Rs. 2520, 5%

3. Rs. 5000, Rs. 6250, 7%

4. None of the above / IWRIad H I HI Tl

Correct Answer :-

¢ Rs. 3000, Rs. 2520, 5%

22) A trader marks his goods at 40 % above the cost price but allows a discount of 25 %.
What is his gain percent? / T& STURI A U= WM IR 9 T A 40% 31T 3ifepd forar
AfF 25 % Pt Ye UM Dt | BT ATH Ffa=ra 71 872

(24)



1.6%
2.7%
3.5%

4.8%

Correct Answer :-

. 5%

23) The HCF of 2, 3, and 5 is: / 2, 3 3iX 5 &1 HgWH JHIUGA® 3:
1.1

2.0

3.5

4.3

Correct Answer :-

24) If 18 % of a number exceed its 14 % by 45, then the numberis / T®h I=T T 18%
ISP 14% J 45 AfYw §, N G=I 8

1. 1225
2. 1275
3. 1125

4. 900

Correct Answer :-

25) Rahul is ten years younger than Gautam. Ten years hence, the ratio of ages of Rahul
and Gautam will 2:3. Find the present age of Rahul. / XTgd, Maq 4 10 Tﬂf@’lﬂ%l a'aatf
YT, EA 3R AW Pt 3T BT U 2:3 TR I Bt TAHT 3G B JId He |

1. 10
2.20
3.5

4. 15

Correct Answer :-

(25)



26) Two stations A and B are 80 km apart on a straight line. One train starts from Station
A at 7 a.m. and travels towards B at 20 kmph. Another train starts from Station B at 8 a.m.
and travels towards A at a speed of 40 kmph. At what time will the two trains meet? / A

I A 3R B T Heft I W 80 fredt &1 gt R €1 T Y9 W A | UTa: 7 99 TR Bielt @
3T 20 et ufa ger &) fd | B F1 3R W1t 81 T 370 YT B Y A UTd: 8 9 URT gl &
3T 40 N ufay ger # 7fa F A F 3R o<l 81 forT T99 w341 ¥ e

1.9.05 am.
2.9.20 am.
3. 8.30 a.m.

4, 9.00 a.m.

Correct Answer :-

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / <l &} 7§ g H, &Ry 3k Tt 1 vd % fHfed &1 Taa gaie ygare:
i.3214eeqt4123

ii.3214reqt4123

iii.3214reqt4123

iv.3214reqt4123

28) Find the average. / 3aa Fwiferdi
39, 45, 51,57, 63 & 69

1. 58

2.57

3.54

4. 55
(26)



Correct Answer :-

. 54

29) A train travels at an average speed of 50 kmph, stopping for 2 min after every 75 km.
How long will it take for the train to reach a destination of 600 km from its starting

point? / U& ¥d 50 fbeht ufy der Y fied =rer & 9« 38 2, <Y 7 ud® 75 ot ugra 2 e &
T Tt 81 3 URMIE R T 600 B & Tiasy 9@ Ugaq & foe ¥a &1 fHa-n Iug aam?

1. 12 hr 14 min/ 12 ¥¢ 14 fFE

2. 12 hr 7 min/ 12 ¥¢ 7 {1

3.12 hr 21 min /12 °¢ 21 e

4, None of the above / IWRIad & ¥ P13 -Tg!

Correct Answer :-

e 12hr 14 min/ 12 9¢ 14 ffFe

30) A tyre of a truck has a diameter of 0.5 m. How many revolutions would it make, if it
travels 275 m? / U® ¢ & URT &1 AT 0.5 Hex 81 afe 98 275 Hiex ot g Har ¢ df 98
foam ufvsaor Hm?

1. 175
2. 450
3. 225

4. 550

Correct Answer :-
e 175

Topic:- Science and Simple Arithmetic

1 , @
) If 2—; = 24/2, then a= | ot 2—; =23/2.ar a=
& E——— +f -
1.4
2.2
3.1
4, "-"IE

Correct Answer :-

(27)



2)

The value of “m' for which 57 + 573 =5%is: / 5™ = 573 = 5% & ‘' & A ™F I
1.5

2.3

3.2

4.1

Correct Answer :-

3)
In a motor factory, five varieties of vehides were manufactured in one vear, whose breakup is given
below.
If this data were to be represented in a pie chart, then what will be the angle for vans?

Motor bikes Cars Pickups Vans Mini trucks
B000 3600 1200 800 400

} ue At thaell &, U a¥ & 5 dHg & digl & o9 fhar ok, forawr foawor e &
fer amr B
IATe A5 ST WIS Iic & TAROT [l IR §idl, df d & folT @RI &I9T §iar?

AlcY a5k B G dd GEINT
6000 3600 1200 800 400

=]

1.72

o

2.24

=]

3.36

=]

4. 60

Correct Answer :-

o

. 24

4) If16 —3(a — 7) = —14,then a = A 16—-3(a— T =—-14 § dla= .

1. 19

2.17
(28)



3.21

4.13

Correct Answer :-

17

5)
In parallelogram ABCD, the value of x, when <4 = 40° is: / AL aaaaia #H, x @& A [ g,

dldh <A = 40° B

C D
X
A B
| 120°
, 150°
3. 40°
, 140°

Correct Answer :-

140°

6)
In a quadnlateral ABCD, if £A=80°% £B=100° 2 =507 thensD = ./ T T

ABCD #, Afg £A=80°% 2B =100° 2€=50%dTzD=__
| 130°

5 100°

5 110°

4 120°

Correct Answer :-

. 130°

) Simplify: (3x+2)% + 3x—2)? 4 (3x+ 20 + (3x— 2)% = wm= s

(29)



L. S4x3 +2x2 4+ 72x — 16
2. Sdyd +12x2 + 72x
3. S4x3 + 72x

4. S4x3 +72x — 16

Correct Answer :-

. Sdxd 4+ 72y

8)
The remainder when (3p® — 7) is divided by (p — 1) is: s (3p* = 7) & (p — 1)
89T &oT WX T el s &

9) After spending Rs. 75,000 for remodeling a house, Sania sold the house at a profit of 20%. If the
selling price was Rs. 36,00,000; then, how much did she spent to buy it? / TTFRET Y TR BT ARG U
75,000 FUA TH HIP 20% & ATH W R o7 fear| afe @R &1 fasma gea 36,00,000 U AT, T SHA 5H W
P Wled & fore fovam v @ fw A2

1. Rs. 29,25,000 /29,25,000 ST
2. Rs. 26,53,000/26,53,000 30T
3. Rs. 28,75,000 / 28,75,000 3T

4. Rs. 39,25,000 / 39,25,000 3T

Correct Answer :-

e Rs.29,25,000/29,25,000 T4

10) If the egg shell is treated with solution A and the gas that is evolved turns limewater milky. The

solution A is: / UfS 37 Haa B A faeraT & w1 Iu=nfd forar wiTe qut faw R i 97 & i
P glRrT e S, Ot fAaaT A §:

1. HCl

(30)



2. HyS
3. KCI

4. HNO4

Correct Answer :-

e HCl

11) Nylon clothes dry up faster than cotton clothes because it: / q'l'%'@l'ﬁ cg am'@;, ﬁ?ﬁ ms’r 4|
1. Is a porous material / g Udh TRY AT % [

2. Has low degree of water absorption / 3:@ TS SR ST ﬁg HEAT a?ﬁ %I

3. Has high degree of water absorption / STH OTd SIRNYUI B I HEHT B! %I

4. Has good elasticity / ST TR 331 Il B

Correct Answer :-

» Has low degree of water absorption / _&Flﬁ STl 3IRNYUT Bl ﬁ'ﬁ HHAT Eﬁ?ﬂ %I

12) What happens to the rate of photosynthesis / productivity when the temperature is gradually
increased beyond the optimum temperature? / YPIRA TRAYUI/IUTGHAT DI G2 BT T gldl %, olqd
argAT R-R syaw arauE | Siftre g1 ST 82

1. Temperature has no effect on photosynthesis / dTUHTT b YHIR] WWﬁéumqﬁm%l
2. Productivity decreases /WW@W%I
3. Productivity remains the same / Wwwmﬁ’r%l

4. Productivity increases / SdIqdhdl de S %l

Correct Answer :-

o Productivity remains the same / 3dTqh dl Udh FHIH Qt‘:dnl %I

13) The rear view mirror used in the vehicles is: / EITET'ﬁ " UYad ﬁﬁ' CIGIRIE] aﬁﬁ drell E&UT
e g g:

1. Convex mitror / 3d GUUT

2. Concave mirror / 3fadd GUUT

3. Plane mirror / THAA GUUT

4. Parabolic mirror / TRAWAH GUUT

Correct Answer :-

31



« Convex mirror / 3ad GUUT

14) The electric current flows from: / ﬁ‘g{{ﬁ URT ﬁwr:mw W%?I' Eﬁ?ﬂ %:

1. Positive terminal to negative terminal inside the cell / 7 & YR eATdS < HTa § HBUMTHS efid

DI 3R
2. Low potential to high potential / 1 faya ¥ S=a fava &t 3R

3. High potential to low potential / 3= fayg 9 = favg &t 8k

4. Negative terminal to positive terminal of the cell outside the cell / ENEGY CIEN Jd P HUTHSD <fHTd I

Y THS cfHd I 3R

Correct Answer :-

» High potential to low potential / 3= faya ¥ AE favg &t 8ik

15) In a box type solar cooker, the part which is responsible for producing greenhouse effect is: /

ST 73U AeR B A, S URT MHETISH UHTT S~ $31 & oY SciRer! 3, 98
1. Glass sheet / 1d & i

2. Black coating inside the box / Sl & Wi BT BIell PifeT

3. The vessel in the cooker box / PP S o §ci

4, Plane mirror reflector / HHIA E'T&'T HQICICICOP

Correct Answer :-

e Glass sheet / Bid @} Ui

16) The kind of tissue in plants that divide actively are: /Oty o TDH YPR P Hddh i afpg U
e grar @, e seamar &

1. Meristematic tissue / fTAYSITdP SHelb
2. Ground tissue / HRU[ S dh
3. Dermal tissue / AT 3D

4, Vascular tissue /?iaetﬁ SHddh

Correct Answer :-

« Meristematic tissue / TAUSAdP SHdd

17) An embryo grows in to a baby. Which is the most active process that happens for this change? /

TH YT T3T 81 R 9471 81 39 IRad & fore aifte afea ufsea w19 W et 82

1. Mitosis / HHIAU
(32)



2. Meiosis / w
3. Repair/ YR

4. Digestion / Uld-

Correct Answer :-

» Mitosis / HHIAT

18) A well / pond, with all the natural animals and plants, remaining in a balanced state is an example
of: / TP H3HT/ATATS BT JHET UTpfad U3 auT dieh & a1, Hfera srawi1 # 94 ¥g+1 A= o1
IETEIU &:

1. Population / STEREAT
2. Biosphere/m
3. Ecosystem / TR IRUTdet o

4, Community / FHaII

Correct Answer :-

o Ecosystem / IR CARE]

19) Select the most correct definition of osmosis. / URTHRUT &1 a9 IR uRyraT &1 3 $31

1. Movement of solvent molecules from its higher concentration to lower concentration. / STHIGU q
5 Tigor & foard Srojeil &1 i |
2. Movement of solvent molecules from higher concentration to lower concentration of solution through a

permeable membrane. / W%I(’T‘ﬁ% HTEYH ﬁ, 3= g0 ¥ 9 90 & foaaq | faaas
3UL31} T i

3. Movement of water molecules from a region of higher concentration to a region of lower concentration
through a semi-permeable membrane. / U Hﬁm@ﬁﬁ & HIH “v)f, S GG & 8T 9
B0 & § STd o 37ULSdi Bt i |

4. Movement of solute molecules from lower concentration to higher concentration of solution through a
semi-permeable membrane. / THURTH fIeedl & Areqd 9, Y Fig0r & 3= wigur o faaee & faag sopsff
CARIIGY

Correct Answer :-

* Movement of water molecules from a region of higher concentration to a region of lower concentration
through a semi-permeable membrane. / Th G{W%C_vﬂ % HIH @, I G P &
EITE0r o & & STdt o S1u[3fi &l T1fd |

20) The low pressure area at the centre of a cyclone is known as the: / Th Ishdld Gg % H DH qdld
1 &F DI 3T ATH I ST 91T 8:

1. Epicenter / 3Py

(33)



2. Fault /&Y

3. Midpoint/q?lilﬁ_g'
4. Eye / &rré

Correct Answer :-

e Eye/ &ns‘

21) Kharif crops are also referred to as: | TEF B HHA BT BREI'\ET f ﬂaﬁh fopar siran %:
1. Winter crops / Md Bd CINIR S|

2. Summer crops / W%—q GRS

3. Rainy season crops WEWW@V

4, Spring crops / SEd ﬂaﬂ?ﬂm

Correct Answer :-

« Rainy season crops Wﬂ?{[ﬁﬁﬁﬂﬁ/

22) Identify the techniques which help in achieving the sustainability in agriculture. / 31 CEEiCaked|
Tgu B3, Wl HIY # FurRoiiad e $31 & eEd gl 2

1. Crop rotation only / R 2 3ftaa

2. Mixed farming only / i fda @

3. All the above /Wﬂlﬂ

4. Using improved varieties of crops only / s wadl &1 I+d fe! BT IUTRT HAT

Correct Answer :-

 All the above /Wﬂlﬂ

23) Divers wear special suits in order to protect them from: / MarER o=y ]qc TgTd %, 3'\‘1'\& CER
* ﬁI'E[:

1. Low pressure /ﬁ’H old
2. Low temperature / ﬁ’HHTCIﬂFT
3. High temperature / 3= dTUHTT

4. High pressure / 3= qId

Correct Answer :-

« High pressure / 3™ ald



24) Tadpole is the developing stage of: / %@Iﬁaw fa@Ta=ita @ %:
1. Snake / -INT

2. Butterfly / foredt

3. Fish / H&ell

4. Frog / Hedh

Correct Answer :-

. Frog/ﬁﬁ

25) If the angles of a quadrilateral are in the ratio 2:3:4:6, then its largest angle is: 1afe Uh ?Iﬁ'g\_:[ &
PN BT YT 2:3:4:6 B, Al SADT AT TST DIV HT AT = FI:

1.172°
2.154
3. 138
4. 144

Correct Answer :-

26) If the perimeter of a square is 72 cm, then its area is: / TI% waﬂ’ 31 ufHg 72 I, %, a EXCal
B =T g

1.324 sqecm / 324 i i,
2. 244 sq cm /244 G QA
3. 288 sq cm / 288 G T,
4. 144 sqcm / 144 i I,

Correct Answer :-

e 324 sqcm / 324 i o,

27) The circumference of a circle of radius 7em is: / 7 I, B are TP gl P ufefer fo=t giit:
1. 22cm /22 H.

2. 49c¢m / 49 T,

3. 54cm / 54 .

4, 44cm / 44 IHL,

(39)



Correct Answer :-

o 44cm /44 I,

28) The least number to be multiplied with 231525 to make it a perfect cube is: / 231525 &I fPa st

DIt TBAT &Y N fovar 91T % a8 qof a¥f 9 91e:
1.7
2.5
3.3

4.2

Correct Answer :-

29) How many cubic blocks of wood of side 20 cm can be cut from a block of wood having dimensions of

2m, 80 cm, and 40 cm? / AP S} BT T ST, foragast faHTa 2 Y., 80 T, TUT 40 A7 &, T 20 A
YT 9Tl fohream TP R SAld BIe o Thd 82

1. 50
2. 100
3. 80

4. 60

Correct Answer :-

30) Two years ago, a village had 16,000 people. In the coming year the population increased by 10%. But
in the next year, if some people had left the village and the population had decreased by 18%, then the

present population will be: /a‘ra'cftm'@r,wmaﬁ 16,000 AT A1 3 aTed a8 A ST A 10% Bi
gfs 53| @ifte 3FTa 99, B ©FN & Tia BISHR Ta AH A TS § IS 18% oY HHI g3, df agi
DI G FE@I = giM:

1. 14,532
2. 18,432
3. 12,832

4. 14,432

Correct Answer :-






